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=2 +xy - (vy —y*)
=2-(-7)=9

(2) L =2 +xy +22y =2y°

= (2 +ay) +2(xy —y?)
“2-l4=-12
£3% £K4mb

1.C 2D 3.D 4D 5.D

2
6.1 -—
7

7.2
8.5v -x -3
9.4 =
10. #5 =5
11. —ab’
12. —%xy4
R ERIIA 4 4 e
1 4 1 55 1 55
T2 Tt Ty
1,
-y
13. ()a*b +d’
(2) i R 2 B =k .
F4F X EHfoRtEl
1.D 2.C 3.D 4B 5 A 6.D
7.C 8.D

9. —xyzﬂ]*xyz(jf BEWAE
FAME—)

10. 3n

1.2 10

12.3a +2b

13. 8

14. f%. (1) )7z =64 +2a -5b
=8a -5b

(2) ik =3x" +4x -1 -3x" -9

= -5x-1

(3) 7z = —55% +15 —6x* - 10
= —114* +5

(4) JEizk = —%kS R +7 +%k3 _K +2k
= 2k +2k+7

15. % )5 = —ab® =3d*b +154°b - 5ab’
= —6ab® +124d%b

Xa X =
. 1 1 1
R = 6><?><( )+12><(2) ?
1 1 1 1
——6><2><9+12><4><3
=—%+1
_2
3

16. f#: (45" -3x+1) +( —2x)
=4x* -3x+1 -2«
=4x> -5x +1

17. ff. i EENREH

(8n-5m) —%(3n—m)

3
——n+m

=8n-5m ) )

= (Sr-5m) ()
18. f# ¥ x= -2 A ax’ +bx +1 =6,
Ba-(-2)+b(-2)+1=6
Bl —8a —2b +1 =6.
¥ oo =2 RARER ax® +bx +1 7,75
a-2"+b-2+1=8a+2b+1,
M —8a—-2b+1=6,8a+2b= -

Saxt +bx+1l=-5+1= -4

19.0

20. f#:( —x" +3x-7) - (2" +5x -3) —
(22 +5x -3)

= " +3x =7 -2 =5x +3 -2 =5x +3

= —54" -Tx -1

HI, EE %N 58 = Tx - 1.
21. fi# . Al HE .
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CHY - LESR(L)

HH:A-B+C
=( -6x" +4x+8) - (4 -3x-2") +
(52> -7x-1)
= —6x" +4x +8 -4 +3x +x° +5¢ - Tw -1
=( —6x" +a° +5x°) + (4x +3x —Tx)
+(8-4-1)
=0+0+3
=3
FREAA =B+ C WS » FHBUETEK .
Hk,x TTie BT 48,4 - B + C i
B SR, FT 3.
22. fif /ANENAT
6+2x1.8+(a-5)x2.7=2.7a-3.9
[H20.4>6+1.8x2,
2. 74 -3.9=20.4,
Al 2.7a=24.3
a=9
INERA 20. 4 TTHES IR G R 9
Tk

FHWEAT TARER

£1% A2FFPANL 24BN
.()v (2)v (3)v (4)x
(5) v

2.C 3.D 4.D
5000000 ®

6. /\H

7. BIRE AHE REHE EK
8.9 21 14 2( L.FMAEH)
0. %

10. fiff: # HEAE BV BROR K73 QOB
©@Z—2K, BIAE I, @R HER, OREBRA; 4
AU LT R T A9 25l R Rl 2 D@®
Je—R BT T P 2= — TR
1, @@ —2, AR EATHY AR 1.

VL. fige o ply 4 1 BB . T T A 52 B 6
R A 2 R CGERD 4 SR E R (2
Bo).

12, ff A ATRE. = RAE R HE L PR
U HE, BT TG (V) (L (F)
B(E) Z i 2 R ARV + F - E =2, 15

e
12

+10 =24 =1 2. A3 2 2 TR B9 TR KL
1R+ O v Ol | DAV IR TP S WS N T
AIREZH A — A 24 58 10 AT 15 ST
A 22 T

13. fif: fE. 3l E (a)  (b) | (c)

B
s
T 0 &
(a) (b) (¢)
14. W%
2% ARzABAMGME

LogAE KR 2.0 ZWk 3. 00;
0@
4. IENE AL
AL
5.3
6. Mg 2
7. B AR A IRELIA

MRLE =

8.A 9.C 10.C 11.C 12.8B
13.B

4. OB Ot O @
(PukHE)

15. W%

16. fift: (1)2 JZ 5 (2)3 ALK E
(BRI RIS 1 ANRAL) 5 (3) ZEID S
T B HAR T PR 0 B e

17, fife BB IE AN TE A 1), RO A
PRADFE AT, S A5 150 o, T 93 A | [ 4R
ANTEZZTANAS L2 U AT | A AR R 2 T
7.

18. W%

3% 2ABABGNEFAR

L(D)= (2)= M 3)M%
(H= Ju (5)3

2. & BEAER R

3. e HIE W

4. (1) x (2)v
(5) x

5.D 6A 7.C 8B 9.B 10.B

11 [5I4E, EImg

(3) x  (4) x



12. (1)2 (2)2
13. (1) =5 (2) B4
(4) =hHE
14. e fEFT  d fE BT fAEATH
#$4% FaALGHL KRR
I.D 2.D 3.C 4.D 5D 6.B
7. OIEABE Q@HHE ONLE
@IERNE GO
8.6
9.(n-2)
10. n
11. 1.
KITE [l
12. 2009
13. D®
14. (1)13,17 (2)4n -3
15. fif B PHI T EIFR :

(3)2,3,4,5
(3) IEJr 1k

=M CEATIILIE ETTE

16. fi#.(1)8, 10,2n +2

(2) i 2n +2 =2008 ] LLIEF] n =
1003, B 24 NFBA 1003 A i, Al JFUE )7
B 43 #2008 4~ = FE.

17. fi# .
EWE FE e
5% Rizb e

.B 2.D 3.D 4.C 5.C 6.D
7.B 8.D 9.D

10.1 em 8¢ 4 cm

11. 10 cm B{ 2 c¢m

12. @@

13. 12 6 6

14, Wi pi 22 [6] 2 B S
i, T B g (AHE—)

15. W&

16. P i ffi e — R HE.

17. f#:6 +5 +4 +3 +2 +1 =21 (F)

18. fi# . AC = (20 —=6) +2 =7 (em)

19. fi#."- CD =8, . AB =4,BC =6,AD
=18, AM =9 [fij AC = AB + BC =10, MC
=AC-AM =10-9 =1.

20. f#. EF =EC + CD + DF =m,CD
=n,

S EC+DF=m-n,

oo E S AC Wb gL F 5 BD YA,

1

EC:AE:%AC,FD = BF =-BD,

/NELALA A

S AC +BD =2m -2n,

S AB =AC+CD +DB=2m -2n +n
=2m —n.
6% ARA

I.D 2.B 3.C 4.C 5.D 6.C
7.B 8.B

9.80°

10. 2 4

11. 108.7 35 16 48

12. 78°24" 13.40°

14. 4 2

15. 228 KA DR

16. FEfwPs 10 T2k

17.90° 60° &}k OC

18. (1)69°10" (2)97°15’

19. fiff : BOX AR « iR TS

180° —x =3(90° —«x) +20°

i3 x =55°

R A~ £ 55°.

20. fiff: 51 I 2R ST 2k, 6 A5 5] = 4000
22,10 4~ ff1; 51 100 2% 5f 2k, 5151 4> ff.
pSE

SN = (1 + 8550 ; (CHE R +2)

21, fif: (1) AR
£ AOE = (90° +30°) +2 =60°,

13‘



CHY - LER(L)

2/ EOB =30°, /B=70°,/A4=56°,
/ BOF =30° +2 =15°, . LACB =54°,
. £ EOF = / EOB + / BOF =45°. Yo CD & £ ACB W44,
(2) LEOB=23B g B -~ /DCB=L,AcB=27°.
2 272 2
sBoF-B. "+ /BDC + / B+ /DCB=180°,
2 . /. BDC =83°.
- LEOF=2_B B _«a 2% ¥R
2 I.C 2.D 3.C 4.B 5.A 6.B
i e T.affe FATTR—KELMPIKE
22.120° 165° 105° AT
23. (1)Kt 20° - (2)354mPa 50° 8.a//c AEW—VIH, THTH—%
G) EEM PR 400 (4) 2C08 | wop g stk A7
=160° 9. 62°
axl — — 2y — 0y 5 Yo Paringli = R ~
FRBT ARG FTE T L R
. - L FAR S B TAT B PAT R 5%
FLF ARK PO T A
1.C 2.B 3.D 4.B 5.B 6.D 11.55°
7.B 12. AB//CD AD//BC
8. LEOF 5+ BOC, L EOC 5 /. BOF 13. W&
9.70° 14. £ ADC =105°, £ A =75°
10. £1 /35,1 60° 120° 15. f#:AB // CD
11. /FBH./MCH . /GDQ ./ GEB /1 =470,
L MDA |/ NEA, /ABP ./ ACQ - LABC =47°,
LADC LAEB . LACD . LABE S LABC + £2 =47° +133° =180°,
12.5¢ ~AB//CD,
13.90° BC // DE.
14. i 0 F B TR - /1 =470,
¢ ¢ AB//CD,
A B A B LD =47°,
(34) 44 - /D= /BCD,
ZF 4 MG SUE IR AT H 28 - BC//DE.
15. f## .- OE LAB, / EOC =20° , 16. JEM - 21 =22,
- LAOC =70°, . AC//DE,
ifii £ AOC = 2 BOD ,0G -4y 2 BOD, .. LA+ LADE =180°.
. L BOG =70° +2 =35°, .~ AD// BE,
16. 50° . LADE + £ E =180°,
17. 25° - /A= /E.
18. 100° 17.9F8: - 21=24,:1,//1,.
19.f# .- LA+ /B + /ACB =180° i v L2=23,0 0L/,
«
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7.C

L.

18. 40°

19. f# .- AC//DE,.. + ACB = / DEB.
" EF//CD,.. / FEB= / DCB.

.+ /DCB = £ ACD,

.. L FEB =/ DEF,

.. EF V43 / DEB.

20. #R K AC 5 BE &2 T 0.
T2l =22+ 23

21. 8K : %45 BD

22. (1) (2)AB //CD
(3)-MN/EF,: +2=/BCE,

N z1=72,/BCE = £ DCF({EEHD) ,
 LABC=180°-,1- /2,

/ DCB =180° - / BCE - / DCF,

-. LABC = /DCB,

. AB // CD.

B RS2

1.C 2B 3.A 4D 5B 6.A
8.C 9.B 10.A

1
2n +1

13. -9

1. (Dr* (2)

12. 185
14.1 15. 0
16. 10

. (2 2 9
17, (D= =y 5] X ()

19
=D x( -48) = =76

(2) Jfik =3.54 -3.72 +15.46 -5.28
=(3.54 +15.46) — (3.72 +5.28)
=19-9=10

(3)JF = —12-( —10) x2 x2 +( —64)

—12-( -40) + ( -64)

-12+40 +( -64)

= —76 +40

= -36

7.7 1
(4)JET—9715 3><16

_ 7T 5 165 16

977 373 3

_ 1
-3
18. fi#.V. B
3 A e I*\—3'1T
4 2.35\°
_?x3.14x( ; )
~6.8(cm’)
19. -10,-9,-8,-7,-6;5,6,7.8
2
20.%’:;[)2—4110:(—%) —4x(-1)
3] 25
XT—Z+6—Z.
25

5 S e
Zijﬂl - 75’9 S

21, ff# (1) 35 75 = (20 +15) 3%

o HREE A3 0. 8 x2 = 1. 6(JE).

(2) 100 FEFF G HEEE A HUA -

100 =20 x0.8 =4(J5) ,

200 e MR EE AN 4 +2 =6(TT0) ,

s 06 JTHESE, AR pR & KT
100 5 H/NF45F 200 5 .

) KRB R F)F AR

[EES)

w43

BN HiE/ T B4 %/t
BBy

0

108 |1244=16 |96+4=100| 0.8 +4=4.8
207 | 2444=28 | 84+4=88 | 1.6+4=5.6
3163644240 | 72+4=76 [1.6+3.2=4.8
4105 | 48+4=52|60+4=64(2.4+3.2=5.6

SO BSR4y 8 E3 1) .6 ik,
RN, ER D 4. 8 JLC.

22. (1)K b —174373H 18,20

T -1, +2

(2)4 - (-2) =6 (824 - 18 =
6 %)

(3)4+(-2)+(-1)+0+2+( +3)
=6(4)

SRR RAREIRIZ T, 2T
6 %
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CHY - LESR(L)

(4)20 +6 =6 =21 () 5% 24 + 18 + 19
+20 +22 +23 =126 () ,126 +6 =21 ()
cORKAR N SRR A AR T 21 4
R
HREEES

1.B 22D 3.D 4 A 5D 6.C
7.B 8 C 9.D 10.C

1 3
11. ) i4
12 —2<—L<O<l—<3
) 2 3

13. EifiiZs 35°

14.54 15. 45° 16. + 1
17. fi# . 5k = —4+4—%x81
= -1-36

= -37
18. fi#: 75 = 8ab - 3a® - Sab — 6ab
+4b°
= (8ab —5ab —6ab) -3a* +4b
= -3ab -3a” +4b°
19. fi#:24 a =45 [},
b =0.8 x (220 -45)
=140,
22 x (60 +10) =132.
K 132 <140,
Bt LA N A S

20. fi#: (1) LAOD =60°.

(2) L AOD = / BOC.

(3) W E 1 %, % 2 A0B = 145°, |
/ DOC =35°.

LAOB 5 £ DOC fFHEM B E LR A
/ AOB + / DOC =180°.

(4) BT

PR & LAOB + £COD + LAOC +
/ BOD =360°.

Y /AOC = / BOD =90°,

. LAOB + £ COD =180°.

2L (1)< @< B> @>
G >

()" ' >(n+1)"

(3) >

22. . 21 =60° , FIEHUNT .

YA T AR

L,

oL+ 22 =120° (B HER AT, NAS
FARHSE).

Nos1=22,

21 :;— % 120° =60°,

[CREESIH) SEERTHIEER: !
i e ph N R ZE H AL ik« http . //www. snepublish. com +

e R S U U U S SO U U
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